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1 2 3 

1 �5EF>?>?>65=<5 >5N5>F4 %F46D>?>?LE><= >D4=, D-= �?4=4E5=>>6E><= 

2 

�?>M44L >5N5>F4 ± 65?<G<=4 

?>7D5L=>EF< >?D545?5=<O 

??>M44< ($ ± &$) 

28757±59 >6.< 

3 �=O5 E4D4>F5D<EF<>< >5N5>F4 
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E4D4>F5D=OE 

F>G5> 7D4=<F 

�>>D4<=4FO, < 
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%D54=OO 
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1 2 3 4 5 6 

1 590631,70 2171460,09 
�5>457<G5E><= 

<5F>4 
0,10 — 

2 590633,53 2171461,09 
�5>457<G5E><= 

<5F>4 
0,10 — 

3 590633,77 2171462,42 
�5>457<G5E><= 

<5F>4 
0,10 — 

4 590623,81 2171523,13 
�5>457<G5E><= 

<5F>4 
0,10 — 

5 590621,82 2171535,67 
�5>457<G5E><= 

<5F>4 
0,10 — 

6 590623,31 2171536,07 
�5>457<G5E><= 

<5F>4 
0,10 — 

7 590628,80 2171541,56 
�5>457<G5E><= 

<5F>4 
0,10 — 

8 590630,81 2171549,06 
�5>457<G5E><= 

<5F>4 
0,10 — 

9 590628,80 2171556,56 
�5>457<G5E><= 

<5F>4 
0,10 — 

10 590625,35 2171560,02 
�5>457<G5E><= 

<5F>4 
0,10 — 

11 590668,39 2171651,37 
�5>457<G5E><= 

<5F>4 
0,10 — 

12 590754,45 2171828,12 
�5>457<G5E><= 

<5F>4 
0,10 — 

13 590853,04 2172029,28 
�5>457<G5E><= 

<5F>4 
0,10 — 

14 590957,61 2172244,91 
�5>457<G5E><= 

<5F>4 
0,10 — 

15 590998,68 2172323,14 
�5>457<G5E><= 

<5F>4 
0,10 — 

16 591091,15 2172382,21 
�5>457<G5E><= 

<5F>4 
0,10 — 

17 591186,99 2172440,79 
�5>457<G5E><= 

<5F>4 
0,10 — 

18 591370,63 2172552,75 
�5>457<G5E><= 

<5F>4 
0,10 — 

19 591561,91 2172669,56 
�5>457<G5E><= 

<5F>4 
0,10 — 
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20 591645,95 2172719,82 
�5>457<G5E><= 

<5F>4 
0,10 — 

21 591648,61 2172717,17 
�5>457<G5E><= 

<5F>4 
0,10 — 

22 591656,11 2172715,15 
�5>457<G5E><= 

<5F>4 
0,10 — 

23 591663,61 2172717,17 
�5>457<G5E><= 

<5F>4 
0,10 — 

24 591669,10 2172722,65 
�5>457<G5E><= 

<5F>4 
0,10 — 

25 591671,11 2172730,15 
�5>457<G5E><= 

<5F>4 
0,10 — 

26 591669,10 2172737,65 
�5>457<G5E><= 

<5F>4 
0,10 — 

27 591665,10 2172741,65 
�5>457<G5E><= 

<5F>4 
0,10 — 

28 591701,45 2172822,59 
�5>457<G5E><= 

<5F>4 
0,10 — 

29 591745,30 2172919,46 
�5>457<G5E><= 

<5F>4 
0,10 — 

30 591791,69 2173020,44 
�5>457<G5E><= 

<5F>4 
0,10 — 

31 591791,61 2173022,28 
�5>457<G5E><= 

<5F>4 
0,10 — 

32 591791,25 2173022,74 
�5>457<G5E><= 

<5F>4 
0,10 — 

33 591707,33 2173101,52 
�5>457<G5E><= 

<5F>4 
0,10 — 

34 591621,94 2173183,98 
�5>457<G5E><= 

<5F>4 
0,10 — 

35 591453,87 2173346,94 
�5>457<G5E><= 

<5F>4 
0,10 — 

36 591286,98 2173508,41 
�5>457<G5E><= 

<5F>4 
0,10 — 

37 591118,17 2173671,77 
�5>457<G5E><= 

<5F>4 
0,10 — 

38 590948,93 2173835,55 
�5>457<G5E><= 

<5F>4 
0,10 — 

39 590779,78 2173999,44 
�5>457<G5E><= 

<5F>4 
0,10 — 

40 590609,92 2174163,02 
�5>457<G5E><= 

<5F>4 
0,10 — 

41 590442,02 2174325,49 
�5>457<G5E><= 

<5F>4 
0,10 — 

42 590274,13 2174488,29 
�5>457<G5E><= 

<5F>4 
0,10 — 

43 590272,88 2174488,85 
�5>457<G5E><= 

<5F>4 
0,10 — 
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44 590199,47 2174494,10 
�5>457<G5E><= 

<5F>4 
0,10 — 

45 590199,32 2174494,10 
�5>457<G5E><= 

<5F>4 
0,10 — 

46 590197,60 2174493,10 
�5>457<G5E><= 

<5F>4 
0,10 — 

47 590197,60 2174491,10 
�5>457<G5E><= 

<5F>4 
0,10 — 

48 590198,36 2174490,35 
�5>457<G5E><= 

<5F>4 
0,10 — 

49 590200,73 2174489,05 
�5>457<G5E><= 

<5F>4 
0,10 — 

50 590201,53 2174488,80 
�5>457<G5E><= 

<5F>4 
0,10 — 

51 590270,26 2174483,27 
�5>457<G5E><= 

<5F>4 
0,10 — 

52 590437,64 2174320,96 
�5>457<G5E><= 

<5F>4 
0,10 — 

53 590605,70 2174158,49 
�5>457<G5E><= 

<5F>4 
0,10 — 

54 590775,40 2173994,92 
�5>457<G5E><= 

<5F>4 
0,10 — 

55 590944,55 2173831,02 
�5>457<G5E><= 

<5F>4 
0,10 — 

56 591113,79 2173667,24 
�5>457<G5E><= 

<5F>4 
0,10 — 

57 591282,61 2173503,88 
�5>457<G5E><= 

<5F>4 
0,10 — 

58 591449,48 2173342,44 
�5>457<G5E><= 

<5F>4 
0,10 — 

59 591617,56 2173179,46 
�5>457<G5E><= 

<5F>4 
0,10 — 

60 591702,96 2173096,99 
�5>457<G5E><= 

<5F>4 
0,10 — 

61 591781,78 2173019,12 
�5>457<G5E><= 

<5F>4 
0,10 — 

62 591739,16 2172922,55 
�5>457<G5E><= 

<5F>4 
0,10 — 

63 591695,31 2172825,69 
�5>457<G5E><= 

<5F>4 
0,10 — 

64 591658,49 2172744,52 
�5>457<G5E><= 

<5F>4 
0,10 — 

65 591656,11 2172745,15 
�5>457<G5E><= 

<5F>4 
0,10 — 

66 591648,61 2172743,15 
�5>457<G5E><= 

<5F>4 
0,10 — 

67 591643,12 2172737,65 
�5>457<G5E><= 

<5F>4 
0,10 — 
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1 2 3 4 5 6 

68 591641,11 2172730,15 
�5>457<G5E><= 

<5F>4 
0,10 — 

69 591642,28 2172725,80 
�5>457<G5E><= 

<5F>4 
0,10 — 

70 591558,63 2172674,94 
�5>457<G5E><= 

<5F>4 
0,10 — 

71 591367,35 2172558,13 
�5>457<G5E><= 

<5F>4 
0,10 — 

72 591183,72 2172446,17 
�5>457<G5E><= 

<5F>4 
0,10 — 

73 591087,61 2172387,42 
�5>457<G5E><= 

<5F>4 
0,10 — 

74 590991,40 2172330,18 
�5>457<G5E><= 

<5F>4 
0,10 — 

75 590990,69 2172329,46 
�5>457<G5E><= 

<5F>4 
0,10 — 

76 590990,62 2172329,32 
�5>457<G5E><= 

<5F>4 
0,10 — 

77 590952,11 2172248,02 
�5>457<G5E><= 

<5F>4 
0,10 — 

78 590847,38 2172032,04 
�5>457<G5E><= 

<5F>4 
0,10 — 

79 590748,80 2171830,88 
�5>457<G5E><= 

<5F>4 
0,10 — 

80 590662,72 2171654,12 
�5>457<G5E><= 

<5F>4 
0,10 — 

81 590618,51 2171563,34 
�5>457<G5E><= 

<5F>4 
0,10 — 

82 590615,81 2171564,06 
�5>457<G5E><= 

<5F>4 
0,10 — 

83 590608,31 2171562,05 
�5>457<G5E><= 

<5F>4 
0,10 — 

84 590602,82 2171556,56 
�5>457<G5E><= 

<5F>4 
0,10 — 

85 590600,81 2171549,06 
�5>457<G5E><= 

<5F>4 
0,10 — 

86 590602,82 2171541,56 
�5>457<G5E><= 

<5F>4 
0,10 — 

87 590608,31 2171536,07 
�5>457<G5E><= 

<5F>4 
0,10 — 

88 590613,30 2171534,74 
�5>457<G5E><= 

<5F>4 
0,10 — 

89 590614,69 2171517,65 
�5>457<G5E><= 

<5F>4 
0,10 — 

90 590621,74 2171462,21 
�5>457<G5E><= 

<5F>4 
0,10 — 

91 590622,00 2171461,46 
�5>457<G5E><= 

<5F>4 
0,10 — 
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1 2 3 4 5 6 

92 590623,64 2171460,46 
�5>457<G5E><= 

<5F>4 
0,10 — 

1 590631,70 2171460,09 
�5>457<G5E><= 

<5F>4 
0,10 — 
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%E5<4 D4E?>?>65=<O 7D4=<F ?G5?<G=>7> E5D6<FGF4 

�E=>6=>= ?<EF 

26:03:000000:2808(7)26:03:000000:2808(7)26:03:000000:2808(7)26:03:000000:2808(7)26:03:000000:2808(7)

26:03:000000:2808(14)26:03:000000:2808(14)26:03:000000:2808(14)26:03:000000:2808(14)26:03:000000:2808(14)
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